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Nimi: PiivAmadrd: ___ Pisteet: ___
3+2= 5+1= 2+3= 3+2=
242 = 4+4= 1 +4= 3+3=
1+1= 5+5= 5+1= 1+2=
5+4 = 3+3 = 3+5= 3+1=
4+1= 3+4-= 341 = 243 =
5+2= 4+3= 5+5= 543 =
4+5= 5+2= 3+4= 1+1=
4+4= 3+2= 5+2= 4+3=
3+4= 5+4= 1+1= 2+1 =
1+5= 5+5= 341= 1+4=
2+2= 2+5= 1+3= 4+4-=
2+4 = 1+2= 3+4 = 1+4=
4+4 = 5+3 =
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Lisdys enintdédn 5 (vaaka)

Nimi:

3+2=5

2+2=4

1+1=2

5+4=9

4+1=5

S5+2=7

4+5=9

4+4=3

3+4=7

1+5=6

2+2=4

2+4=6

4+4=38

5+1=6

4+4 =3

5+5=10

3+3=6

3+4=7

4+3=7

5+2=7

3+2=5

5+4=9

5+5=10

2+5=7

1+2=3

5+43=28

2+3=5

1+4=5

5+1=6

3+5=38

3+1=4

5+5=10

34+4=7

5+2=7

I1+1=2

3+1=4

1+3=4

3+4=7
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Paivamaara:

3+2=5

3+3=6

1+2=3

3+1=4

2+3=5

5+3=28

I1+1=2

4+3=7

2+1=3

1+4=5

4+4=3

1+4=5

Pisteet:



https://www.snowmath.com

